Chocolate Fondue Fountain -Explosive Drawing




Chocolate Fondue Fountain - BOM

1. Worm Shaft 27. Even Filling Piece 53. Big Close End Connector

2. Small Tray 28. M4 X 10 Round Head Machine Screw 54, Neon Lamp

3. Medium Tray 29. Motor Support 55. Copper Insulating Clamp

4, Big Tray 30. Small Gear-Wheel 56. Resistor

5. Sleeve 31. Big Gear-Wheel 57. @3 Pyrocondensation Drive Pipe
6. Support 32. Shaft 58. @5 Pyrocondensation Drive Pipe
7. Supporting Pipe 33. Gear Axle Shaft 59. Steel Plate

8. Silicon Plate 34. M4 X 10 Round Head Machine Screw 60. Switch contact plate

9. Bottom Casing 35. @4 Spring Washer 61. Rivet

10. Cylindrical Seal Ring 36. Motor Frame 62. Switch support

11. Plain Washer 37. @4 Spring Washer 63. Switch contact

12. Heating Pipe 38. M4 X 25 Round Head Machine Screw 64. Switch Shaft

13. Aluminum Tray 39. Motor 65. @4 Pyrocondensation Drive Pipe
14. Thermal Fuse 40. 175 X @3.1 0 Seal Ring 66. Spring (4.8 x0.4)

15. Thermal Insulation Plate 41. Cylindrical Body 67. Power cord 0.7

16. @3 Spring Washer 42. lllumination Protection Piece 68. Cable Protection Sleeve

17. M4 X 5 Round Head Machine Screw 43. M3 X 6 Round Head Machine Screw 69. Electric Wire 0.75

18. @3 Grounding Strap 44, Turning Knob 70. Bottom Plate

19. @3 Spring Washer 45, M6 Hexagonal Nut 71. @ 3 X 14 Self Tapping Screw
20. M3 X 6 Round Head Machine Screw 46. @3 X 10 Self Tapping Screw 72. M3 X 24 Worm Shaft

21. Thermostat (KSD 75°C) 47. Insulating Clamp Fixed Stand 73. Adjustable Leg

22. @3 Spring Washer 48. Wire Fixing Plate 74. Foot Pad

23. M3 X 6 Round Head machine Screw 49, @3 X 8 Self Tapping Screw

24, Silicon Ring 50. M4 X 10 Round Head machine Screw

25, Oil-Retaining Bearing 51. Nylon Tie

26. M4 X 10 Round head machine screw 52. Small Close End Connector




	�¶�±  1

